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Time Allotted: 3 Hours . Full Marks: 100

The figures in the margin indicate full marks. eNfew T FZ KNG YT ot e
Candidates should answer in their own words ' ST e I IR FEI AN W
and adhere to the word limit as practicable. Tex PR

All symbols are of usual significance.

Group-A
etz
Answer Question No. 1 & 2 and any fwo from the rest within 300 words each

YR 6 SR e 93 SR e o o (TR (I-IG %6 elda Ted
aif$f oo taa W e

1. Answer any five questions from the following within fwe sentences each. 2x5=10
e -t 2Aif elve Tea wie afSf ¥/5 AF= g |
(a) Who is the author of Nyaya Sutra?
TIP3 ATl & 2
(b) What are meant by Sapaksa and Vipaksa?
Ao @R o1 00 F QR ?
(c) What is Svarthanumana?
FifT P A 2
(d) What are the constituents of Paramarsa?
SRR & &I ST ?
(e) What is anumiti karana?
Tefed A0 1 9
(f) What do you mean by Vyabhicara —adar$ana?
FfevR T’ IET0e It @RI 2

(2) Name the avayavas of a paficavayavi anumana.

AL SR SRR R F 9

2107 1 Turn Over



B.A./Part-1l/Gen./PHIG-111/2018

(h) Identify the hetu and sadhya of the following inference:
Fire is cold, because it is a substance.

ffeiiRe Tt &g ¢ iy P sw@is 3 Moa arg o w3

(i) Mention the form of the paramarsa jiiana of the following:
The hill is smoky, because the hill is fiery.

R Rt meehk wer S @ oo orE, IR oo
fEw)

(J) What is the meaning of the term ‘“Naya’ in Jaina Philosophy?

o it e =g WL o

2. Write short notes on any twe of the following within 100 words each: 5x2=10

e @-cieat 7fo Raem Beia afelt soo *Mtwra Wy ke Bt cane

(a) Relation between anumiti and vyaotijfiana
SRS @R AW o=
(b) Paramarsa according to Nyaya
I WS “farse
(c) Distinguish between piirvavat and $esavat inferences
73R 8 (<FFIR SNITA M1 Tt et
(d) Jaina Syadvada.
& FIM |

3. Explain the definition of anumiti. What is the difference between anumana 8+2+5
and anumiti? In this context, explain the nature of paksadharmata jfiana.

SR ST IR PR SN @ SRR W erew A T @B e
*PFfoTelTag Tt Y1 I

4. Define Vyapti according to Nyaya. Mention the different types of Vyapti 2+5+8
with suitable examples. How do the Naiyayikas seek to establish vyapti?

T e i o7 v | BrizaerTz R eia s Fiw Srad F@h (Fafieal
?ﬁwmﬁ%&mﬂ?

5. Give an example of Kevalavyatireki inference. Why is it called  2+3+10
Kebalavyatireki? How does it differ from Kevalanyayi inference?

@3 YRR SR Trad wie | ¥ SO @ e ol 7@ 23 ¢
AR SR Ao @2 SffeR ANk o e

6. Critically explain Jaina ‘Saptabhangi naya’ 15
& TR A0 ARG JR FEN
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Group-B
faent-<
Answer Question No. 7 & 8 and any fwo from the rest
QW6 b TR e IR SR A-FIA 76 avea Teawe
7. Answer any five questions from the following: 2x5=10

fsfeiRe @-ica 2i5fe avts Tea wies

(a) “Nothing is both round and square.” Give the logical form of this statement
and state which term is distributed.

“@Il g2 ook CGlETR ¢ 1R 2o 2@ 9> AFHI PR w
WS @R I Wi 9 ZCAR ©f =

(b) What is meant by distribution of terms?
AL PIATS! 10 F QR 2

(c) Give an example of material obversion.
TS RIS @3l Trizgd mis |

(d) Use truth-table to define the logical connecting ‘=’.
TR AR ‘=" -7 IR WG|

(e) Is simple conservation of ‘A’ proposition possible?
‘A’ IR FE IS F 37T ¢

(f) Give an example of an argument which commits the fallacy of illicit minor.
WY A (I YE @I e Tz wis )

(g) Determine the truth-value of ‘(p © q) vq’ when p is false.
p B =& “(p o q) vq’-93 e AT Fa@mn

(h) If E proposition is true, then its corresponding A is ,Lis ,
Ois ;
% E 36+ O] = OIC A T , 173 ,0 TR |

(1) Represent ‘Everything is P’ by Venn Diégram.
g2 P’ -9 IFHE (SAlbea Feiefae FEl

(J) Show the forms of Mill’s Method of Difference.
e o= 1afon wivR s

8. Write short notes on any two of the following: 5x2=10
frefeie @@ o [Rac Tor =iEee Bt et
(a) Types of conversion
S ST
(b) Opposition of Proposition
W Rz
(c) Existential fallacy

GG (1T
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(d) Distribution of terms.
AT el

9. Test the validity of the following syllogism or syllogistic forms by means of 5x3 =15
Venn diagram: (any three)

ceAibraa RNy fEfie Tiw A gRieRelR Rael /ol I@e (-
feats)

(a) AAA—-1

(b) AAI-4

(c) Children are always cowards, but not always liars, therefore liars are not
always cowards.

ezt 7 S, g & RYRIR 77, wou RyRmR 5@t SkF 731

(d) Some women are musicians, but all political dignitaries are not women.
Therefore, all political dignitaries are not musicians.

@ @ IR 2 TR, e TR v AwAfes I IRe 79 ToIR W
ATE AEATOF &g SRS A |

10.  Test the validity of the following with the help of Truth Table: (any three) 5x3=15
AP ARIY (34! Rl Fets (@-ceat foqfe)

@ P=(qvr)

~qv~rt/..~p
(b) poql.po~q
© (GvH)>I

I>(G-H)Y.. (GvH)>(G-H)

(d) Ram will come if and only if Shyam and Jadu come. If Jadu comes then
Ram will not come. Therefore, either Ram will come or if Shyam comes
then Jadu will come.

AN P A @R @IEHG W AN 8 TP W AW I WA, O AN SR
SRR, TW AN SR; 6231 T PN e oiRge I PN

11.  Use truth-tables to determine whether the following statement forms are 3x5=15
tautologous, self-contradictory or contingent.

fFeeiRe waekef Foide, T Fofen, Tt wWeAfeT — ©f TP A
& s

@ ~[p>2~9-~p]
®) (p-qQ>(vp)
© [e-9vrl=[rvp) vyl

12.  Explain and examine Mill’s Joint Method of Agreement and Difference. 10+5
fRitea SR Ao ~afox i e Ko Fen
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